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ECONOMICS
( General )

Paper : 6.2
( Planning and Development in India )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the guestions

Answer either in English or in Assamese

1. Answer the following questions as directed :
1x10=10

et T erpryes fott sl Tee fra

(@) In which year was the First Five-Year
Plan introduced in Indian economy?

@ e ool wdAfes 29w AuRiie
AT TS 2

(b) Write the full form of NEEPCO.
NEEPCO- < =#ich1 i1 1
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(c)

(d)

(e)

Write two objectives of NEC (North-
Eastern Council).

Teg-+ AR (NEC)-4 751 Seaey fora |

Write one important cause of slow
industrialization in India.

TS RN SRR bl gwge)d I
frgn |

Choose the correct answer from the
bracket to fill in the blank :

Eleventh Five-Year Plan in India was
started in ——. (lst March, 2005/

1st April, 2006/ 1st April, 2007)

TN fooqq @ wa Teach Kol 9@ o1
41

SAET G ARG AfRTEA —— © TS
= | (3% W6, R00e /> «fFR, Yo0v/ 57 Gfa,
3004)

Choose the correct answer from the
bracket :

In which year was railway service started
in India? (1826/1853/1935)

THAT 4 wm Seqrs! aift Tferer :

@ TS TROS (§¢ Gl {8 W? (dSuy/
@9/ S5oe)
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(g} Choose the correct answer from the

(h)

i

0)

bracket to fill in the blank :

Second Five-Year Plan gave emphasis on
——. (agriculture/industry/trade)

TN foeeq o[ ww TEach! vl <@ o g
9

faoR “eafis Rears fom gy fra tafke
— o | (F0/Trmmar /o)

Choose the correct answer from the
bracket to fill in the blank :

North-Eastern Council was established

in —. (1975/1972/1971)

T oo =41 wm Teach ReiR <@ 9 o
9 .

et e —w s =
(dpae/359%/559))

Choose the correct answer from the
bracket to fill in the blank :

Decentralized planning in Assam was
implemented from —. (1986/1989)

N foeTa <[ wm Teach i <1 o1 o
F41
Reetigs <fiFsm e wifis =

(>ovb/3bs)

9@]

Write the full form of PMGSY.
PMGSY-3 = o1 farar |
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2. Answer the following questions : 2x5=10 (h) Why is Indian economy considered as
oS 7l TR Teg T mixed economy?
Ry weNfes R f 9@ I+ comr =2

(a) What is meant by economic plan?
e AfFE A 7 a2
() What are the main objectives of economic

(b) Justify the need for poverty alleviation planning in India?

programme for India. wea EAfes ARFEAR Jel S 2
TRed AT ARwel GRGE  Sni a2
' b S{Wi%;ﬁmt (d) What do you mean by decentralized
planning?

{c) Write two causes of slow industrialization

of Assam. fceRige fiFe T & @2
S SRR CAICRR e o1 P o

(e} What do you mean by economic

(d) Give two arguments in favour of liberalization?
economic reforms in India.
wiefefes Tnidiad T 5 g ?
TR AT A T Yl I WA |

(¢) What do you mean by SGSY? Give () Write a short note on NEC.

two objectives of it. NEC-9 €9T9 5 2 COrRpT T |
SGSY W R & 7 T 761 T Tewy 490 |

3. Answer any four of the following questions : 4. Answer the following questions : e
5%4=20 o fira 2T e fi
s fr & et BIRGY epis Te o : : oy
{a) Explain the role of economic planning in
(a) What are the basic features of Indian post-liberalized period in India.
developi ?
economy as a developing one i & P
ik 25 o forcs o s AR ST ] 3R |
CafH3IaE 6 7
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(b)

()

Or / 941

What are the basic objectives of economic
reform in India?

TlEeq FYANST EET & SITER 62

What do you mean by FDI? How far is it
important in Indian economy?

gers et Rivcs we & @ eren
o TR @Fg B 2

Or/ 924

Discuss the present trend of foreign trade
in India.

TP FETe Mo Qo qifaeE sifedmE
I 41 |

What are the importance of decentralized
planning in India and what are its
consegquences?

SReS [Faps ARTETT 9oy W e 29
e 157

Or / 9931
What are the main objectives of Eleventh

Five-Year Plan and how far have these
been fulfilled? Discuss.

G S ~fFETE o S [ e
% e Foep] L0 ? A 40 |
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(d) What is economic growth? Is there any

difference in between economic growth
and development? Discuss.

Tefifes [em 7 weftafes Rem =1e Smrm
rere {125 SCRCA 7 S 41 |

Or / =231

Give arguments in favour of privatization
of industries in Indian economy.

TROY TAIfee TR IETOTIT T e
a1

bidh g
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